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• i - ( , ) i- ;
• Ci - ( , , 

) i- ;
• Qi - i- ( , 

) ;
• Vij - ( , ) , 
i- j- ;
• N - ;

• Qi + V1 i+ …+ VNi - ( , ) i-
;

• Ci+Vi1 ·X1+…+ViN·XN – i- .
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N 3 --- 92 4 …



. 1

•

• ( ), ( ) 
( ). 

• :
• ( 1, 1) 

« 1»;
• ( 1, 1) 

« 1»;
•

« 2» ( 2).

, 2009 . 10



. 2

•
• :
• ( 1, 1) 

,
•

( , ) 
;

•
,

•
« 2»,

• ( 2)

, 2009 . 11



. 3

• 1.
•

, 2009 . 12

, 
. .

, 
.

/ , . . . 

60 000 20 000 900 42 . 42 .

40 000 2 000 90 27 050 
.

5 000 .

18 000 50 1 991 . 0
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• X1 - , ./ ,
• X2 - , ./ ( ),

• X3 - , ./ ( ),

• :
• 42 * X1 =60000 + 20000* X2  + 900* X3

• 27050 * X2 =40000 + 2000* X2  + 90* X3

• 991* X3 =18000 + 50* X2  + 1* X3

•
:

• X1 = 2611,62   X2 = 1,66  X3 = 18,27
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60 500 22 000 1000 44 . 44 .

41 000 2 029 93 29 230 
.

5 150 .

18 500 51 2 1095 . 0

:

X1 = 2544,11   X2 = 1,56  X3 = 17,01
X1 = 2611,62   X2 = 1,66  X3 = 18,27 ( )
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• :
• Y1 - , . ,
• Y2 - , . ,
• Y3 - , . .
• Y1 =1 Y2 =1000 + 1000* Y1 +0.001* Y2  + 0.01* Y3

• Y3 = 50* Y1 +0.001 Y2  + 0.01* Y3  

• :  Y1 = 1   Y2 = 1101.153 Y3 = 51,617
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60 250 21 000 950 43 . 43 .

40 551 2 0001,1 91,01 28 151,15 
.

5 100 .

18 258 50,05 1,052 1042,617 
. 

0

: 

X1 = 2577,62 ./ X2 = 1,61 ./ X3 = 17,62 ./

X1 = 2544,11   X2 = 1,56  X3 = 17,01 ( 1)
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• SergeK@tecincom.ru
• www.tecincom.ru

• +7(343)3598649, +7(912)2434048

, 2009 . 24


